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QUESTION 1

Which of the following statements about XPath is true? 

A. XPath uses CSS selectors to identify nodes in documents 

B. XPath is only used to find predefined tags in documents 

C. XPath is used to gather input from users for documents 

D. XPath traverses and finds XML nodes through XPath syntax expressions 

Correct Answer: B 

 

QUESTION 2

What will be the output of the execution of following piece of code? 
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A. B. C. D. 

Correct Answer: A 

 

QUESTION 3
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Which of the following BEST explains how Selenium fits within the test automation architecture? 

A. Selenium supports designing test cases 

B. Selenium interfaces with the SUT 

C. Selenium supports implementing test cases 

D. Selenium is a tool, not part of the test automation architecture 

Correct Answer: C 

 

QUESTION 4

Which of the following is a limitation of a test automation project that is likely to cause an organization to get less return
on their investment than they expected? 

A. Approach stating that all manual tests should be automated 

B. The pesticide paradox is decreased with automation 

C. Short-term thinking and inadequate planning for the automation 

D. Executing tests outside of normal business hours 

Correct Answer: D 

 

QUESTION 5

Which of the following statements is true? 

A. The cheapest and best way to automate is to create automated scripts for every manual test 

B. While it is more expensive to automate tests, maintenance of them is much cheaper than manual testing 

C. A recorded automated test script excels in interpreting the context of the testing 

D. A manual tester can run tests that an automated test would lack the context to interpret 

Correct Answer: D 
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